Question 02. Find maximum or minimum values of the functio

(a) y=25x% + 65— 10x b)) y=9-(x—- 3%

Solution (a) For maximum and minimum value, we can put d =0
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has positive va - ini
= lue at x = e Therefore, y has minimum value atx =

Substituting x = é in given equation, we get
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(b) y=0-(x=3)' =9-x" = 94

or y= fix -
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For minimum or maximum value of y we will substitute — =0
X

or 6-2=0 or x=1
To check whether value of y is maximum or minimum at x = 3 we will have to check whether

d'y o :
—= 1§ positive or negative.
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or —= is negative at x= 3 Hence, value of y is maximum. This maximum value of y is,
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Vou =9-(3-3)=9



